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Togarithm. V. V-Daten
logV =(logio+ logLo)/2
log Vo= logV + 0,02
log [Vo, VMo, Lo]
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Ur=(h - 550)/ 50
logiV ¢=-0,35K-u-:J?
IogLo=-0,350~Usrd*
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Togarithm. V. Vg-Daten

logV =(logh.+ logLo)/2 log)

10gVo = logV +0,02

1og [Mo/V Lo /V ]
545557570

logarithm. V', Vo-Daten
logV' =(log .+ log
IogVo =logV +0,19
log [Vo, V|
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Adaptation: A

logarithm. V' Ve-Daten
logV =(logC,+log )
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ogarithm. L, Lo-Daten
logL =(log\io+ log )/
logLo=logL +0,08
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Togarithm. L, L,-Daten

logL =(log i+ log
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Vai=(Moi* Lo)/2
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Moi / Vai, Loi / Vai Adaptation: Ay =557
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